OJAIJ Przyktadowy test — test jednokrotnego wyboru

W kazdym z ponizszych zdan znajduje si¢ luka.
Wybierz odpowiedz, ktora najlepiej pasuje do

PL kazdego ze zdan. Wez pod uwage zarowno
znaczenie, jak i gramatyke.
In each sentence below, there is a blank space.
ENG | Select the answer that best fits each sentence.
Consider both the meaning and grammar.
Lp. Zdanie Odpowiedzi do wyboru Odpowiedz prawidlowa
A) will not have gone down.
1 You are not going to school tomorrow if your B) will not go down. C) has not gone down
temperature C) has not gone down.
D) had not gone down.
A) might hear
If he was there yesterday, he what they B) would heard .
2 were talking about. C) might have heard C) might have heard
D) might be hearing
A) will receive
Let me know as soon as you the book B) have received .
3. ) L B) have received
you ordered. C) will be receiving
D) received
A) are questioning
Since early morning, the police all the B) is questioning ..
4. people in our neighbourhood about the accident. | C) has been questioning D) have been questioning
D) have been questioning
A) does not want to go cycling
. . B) has not wanted to cycle
5. She since that accident. B) has not wanted to cycle

C) does not want to cycle
D) has not wanted cycling
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A) darkening
Hopes are for those missing in a cruise B) weakening .
6 ship disaster. C) fading C) fading
D) losing
A) stringent
7 More controls of heavy metal emissions | B) blatant A) stringent
) are coming into effect in the whole region. C) flagrant &
D) lurid
A) reimbursed
8. In cases, infection can result in death. B) protuberant D) severe
C) convex
D) severe
Apart from her most  friends, she avoided g)) frlljjsieee
0. telling anyone that her father was a well-known o C) intimate
C) intimate
CEO. o
D) initiate
A) straight
10, J ournahs.ts face many attacks each year, ranging | B) outrlght B) outright
from online harassment to murder. C) gasping

D) freight




